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Write a two-column proof:
1) Given: mZ3 and mZ2 are complementary _
mZLl+mZ2=90° S 4
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Prove: mZ3 2 mJl

A

Statements Reasons
| A ; A S m»«ffgﬂ%,\k&mk 1. p(),kue,.ﬂ.
20 w23 e £ 290 2. 'D»%\g COve- &mg&m
30 ol e 2 =GO 3. g e
4 A 2= e L Dt LD 4. Solst b tan peap.
5. L2 o L2 5. Q%zuw,;& O"*f-
6 B o o £ 6. Shbebion g
'
2. Given: EEEE_BTCEE,‘ZEEE B y ﬁ i .E
Prove: BE =CF | / '
- TR
Statements : Reasons
| EATéc 0 28 AEZEF L__gien
2. nA:BC _RC = R _AE =DF | | 2. Dea%. Q(Q) SN IV L
3. RA+ AE = RE. CD+DF - CF 3 Sageak Bdalilion Pact .
4. pA - D 4, Clstot b
5. BE = CF s St Bt

6. BE : CF 6. Dgg u% CgN(.%lvu_zwq_mﬂ



3) Given: m L n, £3 and Z4 are complementary.
Prove: Z5= /6 |
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4) Given:  LQVW and ZRWYV are supplementary,
Prove: ZQVP = ZRWV
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